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° O]sem’cu’,ows with POLH nomials
o Be care{uL when You subtract pongomLaLs, You subtract the ENTIRE
poLH nolal!

1.Given f(x) = 2x2 —5and h(x) =5 —x

o Find f(x) + h(x) in simplest form

(2% -5 + (5%

o Find f(x) - h(x) in simplest form
[2x*-5)(5-x) =

D) xz-a- 2)(-3 - 25 +35 X
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o Find f(x) — h(x) in simplest form. .
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® (nverse Functlons

2. Given f(x) = —3x + 1. Find the inverse function
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* Radical Equations

O Besureto CHECK Your solutions! Are any of them extraneous solutions?

3. Solveforx: 2+ V3x+4=x 4 X '5()g-f"{> &)
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e Rational Equations

o Flnd a common denominator and thew solve the numerator equatﬂow.
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* Writing HOP Functions

O Be sure to determineg the sign of “a”
O Bvew or Odd Roots

5. Given the graph shown, write a possible equation for the function in standard form.
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o Operations § Shwplifying Powers of L
o what can you tgpe Lnto your caleulator???

6. Simplify (3xi%)®
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* Average Rate of Change
o Sawe as the slope formula

7. Given g(x) = 2x? — x + 8, find the average rate of change on the interval [-2, 3].
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® Detevminiing Factors
0 3 ways to do this: synthetic division, Long Division, Check the root

8. Determine if x + 4 is a solution to g(x) = x* + 2x
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2 — 5x + 3. Justify your answer.
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o Even and odd Functions

O Sub in f(-x)...BXACT same thing, EVEN; OPPOSITE function, OBD

L. Classify the symmetry of each of the following as even, odd, or neither. Explain your answer
A f(x)= =3x*+6x—2 B. h(x) = 2x3 +3x — 10

L= 3 +ol-x) -2 )= 260 + 36
L WL .. ) = -2 -3
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